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QUESTION 1

You need to return the total number of people who are under 21 and not studying or in employment. Which operation is
the most suitable to define for the Person Entity? 

A. readmulti 

B. nsreadmulti 

C. nkreadmulti 

D. ns. 

Correct Answer: B 

Reference: https://www.ibm.com/support/knowledgecenter/SS8S5A_7.0.9/com.ibm.curam.content.doc/
ServerModelling/r_SERMOD_Operations6NonstandardReadmultiGeneratedSql1.html 

 

QUESTION 2

Examine the following piece of code: 

curam.impl.MyProcess = curam.fact.MyProcessFactory.newInstance(); 

If curam.impl.MyProcess is defined as an abstract class as recommended, which statement is true? 

A. The code is incorrect because MyProcess should be from the base package. 

B. The code is incorrect because MyProcess should be from the intf package. 

C. The code is incorrect because the class curam.fact.MyProcessFactory does not contain a static method newInstance
(). 

D. There is nothing wrong with this code. 

Correct Answer: C 

 

QUESTION 3

Consider the following assignable relationship: 
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Which statement about the modeling is true? 

A. You cannot assign an entity to a struct. 

B. You cannot assign an entity to a struct that aggregates other structs. 

C. You cannot assign an entity to a list struct. 

D. There is nothing wrong with the modeling. 

Correct Answer: D 

 

QUESTION 4

Which three of the following are IBM Cúram Application Modules? (Choose three.) 

A. Technical Services. 

B. Business Intelligence and Analytics. 

C. Provider Management. 

D. Social Program Management Platform. 

E. Child Welfare. 

F. Case Management. 

Correct Answer: BCE 

Reference: https://www.ibm.com/support/knowledgecenter/SS8S5A_7.0.4/com.ibm.curam.content.doc/
product_overview/c_enterprise_modules.html 

 

QUESTION 5
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You added a code to a code table. 

Which three build targets must you run so that the code displays on a client page? (Choose three.) 

A. client 

B. codetable 

C. database 

D. clean 

E. ctgen 

F. implemented 

Correct Answer: BCE 

Reference: https://www.ibm.com/developerworks/community/blogs/5e15a5a7-d4d6-4880-bd9ce6819061a832/resource/
HandyGuideToCuramBuildTargets_v1.0.pdf?lang=en 
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